A2 A2 A4 &
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Hl £ Ol & AF S E Al
20208 =0Aa LEal A Al 2elAbE A
FAAlE2E A A
g BatAE 2l
el 2SS 2 SRRk
M L5
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
AE 2| A A 4,350,328 3,885,623 464,705
= 175,000
S 22,500
= 4,152,828
E3tAIE 2e| 1,672,438 1,468,132 104,306
Fat=llzla 2 1,257,407 1,061, 101 196,306
Zatslal2 Alg 22l 1,223,973 1,042,577 181,3%
101 2124H| 2,672 2,672 0
04 JIZtN 22 XHEL 2,672 2,672 0
OZ3=Xzl2 =HIHl AFY
66,8003 201 x20 2,672
201 Zet=dhl 313,200 327,364 A14,164
01 At 22l 20,200 26,864 6,664
OUEIE =HEL =52 100,000 x 12 1,200
OZ23=X3zl2 ZSHA 29
2,000,000& * 14! 2,000
OM&EH gx= 500,000% <43 2,000
OsSe&d gx= 3,000,000& *52] 15,000
02 3323 293,000 300,500 AT,500
os52= ¥ MA 150,000,000 * 14 150,000
og=Hl 75,000,0003 141 75,000
OAE&EBIR A 40,000,0003 141 40,000
OAN&EEE == 25,000,0003 =141 25,000
Ogt== stz 2Aes Haldl
3,000,000& * 14! 3,000
202 044 2,160 1,800 360
01 =W oddl 2,160 1,800 360
O2s=zl& 2L ol
120,000 x6& 33| 2,160
206 M= Hl 4,000 4,000 0
01 =4l 4,000 4,000 0
O23=X3sl2 ¥ M 7Y
3,000,000& * 14 3,000
OQFA MeDI8E 7 (3H2L)
1,000,000& * 14! 1,000
307 212+l 91,941 91,941 0
05 QIZtRIE = 91,941 91,941 0
OFAU % 2/ HAAE(SXG 2, 2g2)
17,000,000 141 17,000
O=Xlzl2 Fa2cl A 74,941,0002 *14] 74,941
401 Al HIZ SO 790,000 612,000 178,000
01 Al€H| 790,000 612,000 178,000
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M Al A S A
A

M3 23tAla e
ool 2a=xse 2y (et @
- — — A L5
SN B CR(BH) - MRAY - BES Ol &t o e dImEET
OSS=XNsl2 AN BESALBNEZA
Hl) 180,000, 00024 14! 180,000
O23=X5 SHATXE 2B
25,000,000% * 144 25,000
OSs=Xsl2 JAY AN L K24 JA 585,000
OSE&HI(ALI, 2401012, SHLNEE)
490,000, 000! * 14! 490,000
OYA&H|(HEZME) 47,000,002 «1CH 47,000
ORI & ==l 48,000,000% * 144 48,000
405 X4+ St 20,000 2,800 17,200
01 RAreI 2 EF S 20,000 2,800 17,200
os=NT AL FIITY
20,000,000% * 144 20,000
+9% 29 33,434 18,524 14,910
201 L2t 2,750 2,840 A
01 AR 2t2lH] 2,750 2,840 A9
OALI+YT Yt Y| 1,000,002 * 14! 1,000
CEEEN= 1, 50024 %5000 750
OANALAR HOEE P 50,0008 55 +43] 1,000
206 T 24| 6,000 6,000 0
01 THEHI 6,000 6,000 0
02T 4B P 6,000,000% * 14! 6,000
307 QI12H0I & 9,684 9,684 0
05 QI2tRIEr2 9,684 9,684 0
04+ AT L 2o LB
186, 22021 #5235 9,684
401 Al & HI L 2 THH| 10,000 0 10,000
01 AlZHI 10,000 0 10,000
O+YT =HOBEX DAHBA
10,000, 000! * 14! 10,000
405 XH&HF St 5,000 0 5,000
01 MU SBH S| 5,000 0 5,000
0+F HHO 7Y 5,000,000% * 14! 5,000
AS9YE 2 82,620 92,620 10,000
asggs 2ol 82,620 92,620 10,000
201 Ler2 | 43,150 43,150 0
01 AR 2t2lH] 2,350 2,350 0
oYBAYE Yol 1,000,002 * 144 1,000
OYBAYE ZEA BA EF 2
900, 00021 #141 900
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FAAlE eI A
g EBatAE 2l
ol dB9dE 29 (il F 2
. N
SA-BY.SASH) - RN - B ol &t S HIDE
ogEdds == & ANEN NS
450,000 14| 450
02 s5=3H 40,800 40,800 0
os32= ¥ HMA 20,000,0002 * 141 20,000
(©)al=d.] 3,000,000& * 14! 3,000
OAEEH |Xid] 15,000, 0003 14| 15,000
OAN&EEE == 1,800,000 =14 1,800
a2l Heerarg 1,000,000 =14 1,000
307 eI+l A 39,470 39,470 0
05 QIZtRIE = 39,470 39,470 0
OZ=RgsE a2l /Y 37,470,000 *14] 37,470
OYEALE LY FApE I
2,000,000 =14 2,000
2ot el 78,470 48,470 30,000
g2t 2el 78,470 48,470 30,000
201 £et2E| 11,000 11,000 0
02 3323 11,000 11,000 0
OAEEHIR X 11,000, 0003 14| 11,000
307 212+ol A 37,470 37,470 0
05 22t &= 37,470 37,470 0
oY=t HA el AE 37,470,000 14! 37,470
401 Al HIZ S0 30,000 0 30,000
01 Al€H| 30,000 0 30,000
OZ2st2t Xl E+3At 22,000,0003 =14 22,000
O=3st2 YT HIY 23 At
8,000,000& * 14! 8,000
FFHEH 2el 153,941 265,941 A112,000
LHMEH 22 153,941 265,941 A112,000
201 £et2E| 112,000 224,000 A112,000
01 AtR2telH 8,000 0 8,000
ox2dgsta 24| 3,000,000 =14 3,000
OgZUEH AMEHH 472 =48I
5,000,000& * 14! 5,000
02 3323 104,000 224,000 A120,000
osE2= & MA 60,000,0003 141 60,000
og=Hl 5,000,000 =14 5,000
OAE&EBIR A 20,000,0003 14 20,000
OANEEE =+8 19,000, 0003 14| 19,000
206 M= Hl 4,000 4,000 0
01 M =dl 4,000 4,000 0
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S A BRIA A
B 2ahAlg 2l
Erol BRHME 22l

- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
OdZTHH St&EA HE L M| 5§ 2
4,000,000 *14] 4,000
307 SI2t0I & 37,941 37,941 0
05 QIZtRE S 37,941 37,941 0
odFEHH a2 /A 37,941,000 =14 37,941
HMEAE3Z 1,291,544 1,056,278 235,266
M=AE 2el 1,291,544 1,056,278 235,266
A2RAEHSAE A2 357,130 256,050 101,080
101 124 H| 17,480 0 17,480
04 JI12tM22sEx 17,480 0 17,480
OLAZHSAIL (MH, 28, 82) sts 4
=H 23| 3,600, 000& «30H & 10,800
OARZHSAE GIEEY o9
66,8003 *2021+53] 6,680
201 et gy| 67,750 77,150 A9,400
01 AtR2teltl 5,750 3,150 2,600
O8Y, 28 MSAE(IRX) =
3,150,000& 14! 3,150
OMSAY ot F3E ==
300, 0003 *2H 2~ 600
o212 MESAME 24 2,000,000& 14! 2,000
02 23224l 62,000 74,000 212,000
OXM=EAY 233 50,000, 0002 14 50,000
O21E MSAE SX2el 12,000,000 14! 12,000
202 04l 900 900 0
01 =LHAYI 900 900 0
OXM=EA4d X2l EHOHI
20,000& 15 x3¢2! 900
206 XH =4I 16,000 0 16,000
01 M=l 16,000 0 16,000
OLTE MSAE(MH, 85, 28) stEa
228 7¢ 3,000,000& *3H 2 9,000
OXAEHSAIE 3tEA HE 7
5,000,000 =14 5,000
OARAEHMSAIE XYII=TE 2L
2,000,000 =14 2,000
307 SI2toI & 58,000 38,000 20,000
05 BIZtRE S 58,000 38,000 20,000
CAUN=E2 EAEY 38,000,000 14! 38,000
OARAE EAEY 20,000, 0002 =14 20,000
401 A& HI YL 20| 187,000 140,000 47,000
01 Al&HI 187,000 140,000 47,000
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A AlZ el AP A
g3 HsANE3d

& M=AIE Zel (che &S
= X XH Ct2l (S = (3] HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k"—rA|'|=|"}£o—1 0:"‘&'—| O:H&.OH t”DLEI:I

O21E MSAE SX2el 70,000,000 14! 70,000
O&C+& sAl2el 20,000,000 14! 20,000
OAUHSE BT T4 YA
22,000,000 14! 22,000
OMTBZ D& &l 5,000,000& 43| 20,000
ONHOIEZSE Ex3At 55,000
OSH HOIESHE B3 Al
30,000,000 14! 30,000
OEEAHOIEZE NS Ex3A
25,000, 000& *14] 25,000
405 KHoEF SHI 10,000 0 10,000
01 ML SSFHSHI 10,000 0 10,000
OZZHSAE UHsaEEAHI| 72 2 X4
IHA) 10,000, 000& » 14! 10,000
SRSt Ald2e 268,530 249,820 18,710
101 124 H| 6,680 0 6,680
04 JI2tHZ22EE+ 6,680 0 6,680
OZEHSSH FHFY| ALY
66,800& *2021 53] 6,680
201 LetEdy| 124,850 119,820 5,030
01 AtR2teltl 3,000 20,970 217,970
C=EE2sE 29Y 3,000,000& 14! 3,000
02 3223l 121,850 98,850 23,000
OZe=sd 53R 96,850
OZH2SST SHEUAAL KBS
350,000 *x12& 4,200
OEE2sE IMEE 3,000,000& 14l 3,000
OS2y SHIELEY
1,000,000& *22] 2,000
O=egzsd A=5E29 250,000& *52] 1,250
Oseg=sd dJIks= 4,000,000& 128 48,000
OSEg2sd dojgtdze]
1,000,000& 123 12,000
OZE2ST sYIIRN2S
200,000& x12& 2,400
O=egzsd Ayotdae|  500,0008«12& 6,000
OZSR2EE MEI4E23
1,000,000 x12& 12,000
OS2y S| 400,000& x6 & 2,400
O=Eg=2sd JIeHE32=  300,000&+12& 3,600
OZESSY E22SS 2H M
25,000,000 14! 25,000
206 XH =4I 7,000 0 7,000
01 M=l 7,000 0 7,000
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SA

7(‘| il—l:

A2 ARS A
H=EAELEL
HSALE 2el

C|—O| :

= = &
SA - EHH . C(S) - MRAY - BAS Ofl &4 S HI DS
Ozgess S84 M 7y
5,000,000& 14! 5,000
OZs2ET MYIIZE 7Y
2,000,000% *14! 2,000
307 glztol A 20,000 20,000 0
05 QIZtRIE S 20,000 20,000 0
O ZEEg2sd HARAE 20,000, 000& *14] 20,000
401 AlE B2 = Thb| 110,000 110,000 0
01 Al bl 110,000 110,000 0
OZHRSH XL 110,000
OZHSSEH ZHAL WERY
20,000, 000& *14] 20,000
OZBSSH MR SAB2IBY
70,000,0002 14! 70,000
OZ2SH Alesxz
20,000, 000& *14] 20,000
MOIZ2ZI1E AlE 22l 454,876 389,674 65,202
101 124 H| 21,376 16,104 5,272
04 JI2ZtHZ22EE 21,376 16,104 5,272
OAOIZHIIE FHFY 28y
66,8002 +2001 103 13,360
OZHIATZE FHFY 22
66,800 *202! 63 8,016
201 L EH2 & 100,000 121,700 A21,700
01 At 2teltl 3,000 1,700 1,300
OAOIZEIIE 2Y 3,000, 0002 14! 3,000
02 Izl 97,000 120,000 £23,000
032232 % HA 65,000, 000& *14] 65,000
OA&EEH Sl 20,000, 000& *14] 20,000
ONEEZ 242 12,000,000 * 14! 12,000
202 01| 2,400 2,400 0
01 =LHOIYI 2,400 2,400 0
OMOIZHIIE AL2EF ofb|
120,000& 2021 %103 2,400
206 TR bl 7,000 5,000 2,000
01 MEHI 7,000 5,000 2,000
OFFA W2 L MYJ| 2 2
5,000,000& 14! 5,000
ozZ8 YT FeFel W2 7Y
2,000,000& 14l 2,000
307 QI2H0| & 94,000 81,470 12,530
05 P12t 94,000 81,470 12,530
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SA

X ZH -
o =

A2 ARS A
H=EAELEL
Sl MSAE 2

= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
OAMOIZ2EIE 2HelAld fe2 Y
22,000,000 =14 22,000
OAOIZ2EIIE Eaael IS
38,000, 000 14 38,000
O=LHM=Elz & L Y
12,000,000& 14 12,000
OMOIZ2EIIEY H2EE RIB Y
22,000,000 * 14 22,000
401 Al HI L2 0HHI 230, 100 163,000 67,100
01 A&l 230, 100 163,000 67,100
QAOIZ2&JIE QH= HMelAMd B3 At
45,100,000 =14 45,100
OMOIZ2EIIE 22 15,000,000& * 14 15,000
OAMOI2 4 BWZIIE == ®X &d
25,000, 000 14 25,000
OA0I2EJIE =84 & X2 ¥ AL U
AP Y EY 10,000, 000& * 14 10,000
QAOIZ2ZIIE AldE SXl2tel
20,000, 000& =14 20,000
QAIOIZ2&JIE AHOIA T SEHESAL
60,000, 000 * 14 60,000
OAMOI2EIIE NMELD AXISA
25,000, 0002 =14 25,000
QAOI2&JI& XIct 28 WHIBAL
30,000, 0002 14 30,000
NEH HIOIEE AlE 2tel 53,524 32,184 21,340
101 el 24| 12,024 8,684 3,340
04 JI12tM22sEx 12,024 8,684 3,340
OX&E) HOIESE FHl e
66,800 *821*103] 5,344
OXEHN HOIZY FHFY o2
66,800& x1021*102] 6,680
201 LBr2Fd| 1,500 1,500 0
02 23234l 1,500 1,500 0
032232 & HA 1,500, 0002 14 1,500
401 A& HI YL 20| 40,000 22,000 18,000
01 Al&HI 40,000 22,000 18,000
OXE HIOIESE SX2tel 40,000,000 14! 40,000
S0MSHEH Ald2e] 157,484 128,550 28,934
101 el 24| 29,842 28,900 942
04 JI2tH22 RS+ 29,842 28,900 942
O=2XM=HH JI2H2Z2 X 1A 29,842
oJles 78,0003« 1 264 20,592
O=F5=¢ 78,0003 12«52 4,056
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SN AlERRIAN A
M HSALBY

ol HSAIL 22l (Ere: & 2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
Osgz2e=g 78,0003 *1H x150%* 10! 1,170
Ogt=rest=g 78,0003 x1& »15& 1,170
Oo=g=2g=s 26,988,000% «1&8+0.045 1,215
(@NE=J--3= L= 26,988,000& 12 +0.015 405
OUZEEREHS  26,988,000% x1F +0.0324 875
OFIRLES= 875,000 12 +0.0851 75
OutETHFESS 26,988,000 »1H+0.0105 284
201 2Bt | 45,642 61,650 ~16,008
01 AtR2telH 2,000 0 2,000
O=gHsdH 2 2,000,000& * 14! 2,000
02 s5=3H 43,642 61,650 18,008
O=VMSHEH 32 43,642
O SEEAAMAY FXI2e]
350,000& =123 4,200
O a2 3,000,000& *14] 3,000
O =Y43¥ALES 1,000,000& *23] 2,000
O £5E89 250,000& 52 1,250
O &8JIe= 1,666,000& 122 19,992
O s8JIsXE= 200,000 x12& 2,400
O Agoraae| 500,000& x12& 6,000
O doteR= 100,000 x 12 1,200
O JIeEssR= 300,000 x12& 3,600
206 T 2l 7,000 0 7,000
01 =4l 7,000 0 7,000
O=2IHsdH 2t HE 72
5,000,000 =14} 5,000
O=0M=sdE XdIISF 7L
2,000,000& =14 2,000
307 212+l 38,000 38,000 0
05 QIZtRIE = 38,000 38,000 0
O=0HM=sdE 3~ 2 38,000,0003 14 38,000
401 Al HI L 20| 14,000 0 14,000
01 AlEHI 14,000 0 14,000
O=LHSHH R&x 24 HIISM R S
g XY 10,000, 0003 14| 10,000
O=2HSdH AI2=S RX2L
4,000,000 =14 4,000
405 &= 23,000 0 23,000
01 MM =S FSH 23,000 0 23,000
O=2HSHH Rar2SH 2507 78 &
&X 23,000,000 14| 23,000
ZetRd =2 E 2l 565,497 503,497 52,000
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A AlZ el AP A
X

M 23RN =29 U Bel
o9l HAIRRSISY 29 (crol: 2
RE-E R WEN-R-FE e HIDE
= 175,000
S 22,500
= 357,997
tRdgs2 29 565,497 503,497 52,000
= 175,000
S 22,500
= 357,997
SArR A S 2 239,797 222,797 17,000
101 e124d| 8,016 8,016 0
04 JI2HM=2 8,016 8,016 0
o= 66,8003 201 x60! 8,016
201 224y 103,520 121,520 218,000
01 AtR2telH 2,000 0 2,000
ogEd 2Y 2,000,000& * 14 2,000
02 s5=3H 101,520 121,520 /20,000
os323 ¥ 37,520,000 + 14| 37,520
O¢ZHI 20,000,000 14| 20,000
OAIE &I 20,000,000& * 14| 20,000
OYNE=F= = 9,000,000 =14 9,000
o24teld =2 2=Xeldl
15,000, 0003 14| 15,000
202 044 4,320 4,320 0
01 =W oLl 4,320 4,320 0
ogtsa Aldael &l 01
120,000& 321122 4,320
206 M= Hl 4,000 4,000 0
01 =4l 4,000 4,000 0
Otz 3,000,000& * 14! 3,000
ozxgael 1,000,000 =14 1,000
307 212t01 A 74,941 74,941 0
05 22t E= 74,941 74,941 0
omtsa 4 74,941,000+ 14| 74,941
401 Al HIZ SO 45,000 10,000 35,000
01 AlEHI 45,000 10,000 35,000
o= 10,000,000 14 10,000
Og=xt& 20,000,000 14! 20,000
oZE&ARY 15,000, 0003 14| 15,000
22 o2 29 21,000 21,000 0
201 Ler=g 21,000 21,000 0
01 At 2te| 21,000 21,000 0
OMEg =28 7,000,000 14 7,000
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SN Al 2| ArE A~
Hm: 23RN =2 U e
Cell MAIRNUSY 29 (crol: 2
PSIE
SN B CR(BH) - MRAY - BES 0l et S HRE2
o2 oelol MEnsy 29
11,000,000& * 14 11,000
OLHE HBBHE s Tt
3,000,000& 14! 3,000
SHAISERUS2 MACHHAIAE HAXS 2,000 2,000 0
405 KHAHF SHI 2,000 2,000 0
01 Xt 2 SFSHI 2,000 2,000 0
OZAIIXNM 2 2,000,000& 14! 2,000
HAIREEE2 2 30,000 25,000 5,000
201 LetEdy| 30,000 25,000 5,000
01 At 2teltl 29,000 21,000 8,000
C=E=SHMA 15,000,000& 14 15,000
OHE Z3AZ MZEH 10,000, 000& * 14 10,000
OY%=Z J1E3tE MA 2,000,000 14 2,000
OEEAH ZH| 2,000,000 14 2,000
02 2322l 1,000 4,000 A 3,000
og=sa =222 ¥s= 1,000,000& *14] 1,000
HASEUS2 AERE 22 7,700 7,700 0
201 LetEdy| 7,700 7,700 0
01 At 2teltl 3,700 3,700 0
OR=ztel Ler23A| 3,000,000& 14! 3,000
ou=sa 24 70,000& *1021 %13 700
02 2322l 4,000 4,000 0
ots=z BE= 3,000,000& 14! 3,000
OURE A4 sXIZeldl 1,000,000 *14] 1,000
HAIREYE2 MA2F 5,000 25,000 220,000
201 LeHE | 5,000 5,000 0
01 At 22|l 5,000 5,000 0
OXNEER = 3,000,000& 14! 3,000
OXAIE WA ¥ =4 2,000,000 1A 2,000
2KNE 2SN L SESM E-JHIXNA (LY 2 250,000 0 250,000
dtg] R ge=2 FH|)
= 175,000
= 22,500
= 52,500
401 A& HI YL 20| 250,000 0 250,000
= 175,000
= 22,500
i 52,500
01 Al&HI 250,000 0 250,000
O 2l K& 82242 Jhl
250,000, 000& = 14! 250,000
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A AlZ el AP A
X

By 259H =@ Y 22
ool HAREYSD 2 ECRE
K38 C9l(8) - MSAR - BaS e 2
= 175,000
= 22,500
i 52,500
HESAAY(AEZ2IAIEA) 930,849 857,716 73,133
ol 2| (Al Z2lAr A) 813,457 771,616 41,841
ol 2HHI (Al Z2lAt 2) 813,457 771,616 41,841
101 214 H| 813,457 771,616 41,841
01 2= 54,406 34,605 19,801
oxU2R¢ 10,3043 1121 %480 Al 2+ 54,406
03 RIAHA22XE = 759,051 737,011 22,040
O3 2l 2R 252,945
OJl=zs 2,074,000 +401 128 99,552
(OFSI=t = 1,012,000& #4021 %23] 8,096
OAIZtel=Y 13,3373 780 Al 2+ 150% 15,605
OZE SO 1,245,000& #4021 %23] 9,960
OFHZ A 130,000 421 x12& 6,240
OxRd 140,000 421 x12& 6,720
(OFS=Ea= 110,000 421 x12& 5,280
OFIE-Ea= 60,0003 *401x12& 2,880
(OPNEE= 50,0003 201128 1,200
OZ A=< 150,000 22! x12& 3,600
OI=H(RUS ¥ =HKE)
500,000& *40! 2,000
(P =S 1,200,000& %401 4,800
OXHstHI B 2+ 600,000& x4 2 | 2,400
Osgz22sg 107,000 421 x59 ! +150% 37,878
Oxd22+¢ (1002 250)
107,000& 4021 %512 *50% 10,914
(OLE P I= oI E= 107,000 421 %15 6,420
OSada QatH 945,000 #4921 3,780
O=0A3FE=3 56,300,000 *x421+0.045 10,134
OLEZERES 56,300,000& *421+0.015 3,378
OHLEEHFEZ 56,300,000 *421+0.0324 7,297
OBIIRLEE = 7,297,000 *421%0.0851 2,484
OLtA TR &= 55,400,000 *421%0.0105 2,327
O30 &HR S 55,416
oJleas 2,178,800& «1Q1+12& 26,146
(OFSI=t = 1,089,400 *121%23] 2,179
OA2tel =% 13,355& 180 Al 2+ 150% 3,606
OZEFIH| 1,307,280& *121x23] 2,615
OZHZ A 130,000& 121 x12& 1,560
O = 140,000 121 x12& 1,680
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SN SR ALY
M HYAAH| (ALl L)
ERlr ol (Ald2telAtg L) (el &3
SH - F - S(EH) - HRMY - BYS Ol &t e DS
O&dd=¢ 110,000 121123 1,320
Ooolg g 60,0003 11123 720
o1l =l 500,000& % 12! 500
OJnE=e 80,000 »12& 960
OFea22=Y 106,841 121302 * 150% 4,808
o522 (1002 2150)
106, 8413 121302 x50% 1,603
Ogxrass It 106,841 & 12115 1,603
OSaYS olatH 980, 0003 * 14! 980
OZUHASI LA 48,677,000 x121+0.045 2,191
OLEEERYAH 48,677,000& x11+0.015 731
OALESERES  48,677,0008 »11%0.0324 1,578
OFIIgdEE = 1,578,000& »121%0.0851 135
OLAMH PSS 47,697,000& x121+0.0105 501
ossa el o2 223,752
OJlzs 2,050,000& 421 x12& 98,400
odza=+¢ 860, 000& *42! 23] 6,880
OAlZtel=¢ 12,6573 570 Al 2++150% 10,822
OZEFIH] 1,300, 000& *421%23] 10,400
OFAZ A 130,000& 401+ 12& 6,240
OXNR=xd 140,000& *401%12E 6,720
O&dAx=g 110,000& *401%12E 5,280
Ol 60,000 401« 12& 2,880
Ol =] 500, 000& *42! 2,000
Onse 540,000& *42! 2,160
OFL2R=E 104,000& *4 21 %512 % 150% 31,824
OF L2+ (10022150)
104,000 42136 2! *50% 7,488
OgxraEst=E 104,000& *401%15& 6,240
02020 S&S= U0 AN
940,000& *42! 3,760
O=oe=2E= 49,800,000 *401+0.045 8,964
(@mE==h= R == 49,800,000 *421+0.015 2,988
OALEFFYS  49,800,000& *401+0.0324 6,455
OFIIgdEE= 6,455,000 *421+0.0851 2,198
OLHAMHRE =S  48,860,000% *421+0.0105 2,053
OZSH=A&22 el 226,938
oJlzs 2,029,000& 521128 121,740
o&E2=+¢ 688, 000& 52! %23] 6,880
OAZtel=Z 11,4523 «180 Al 2% 150% 3,093
O EFIH 1,200, 000& *52!%22] 12,000
OFAZ A 130,000& 501122 7,800
Oz 140,000& 501122 8,400
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Ciol: ol S bl (AL Bal AR L) (ol M
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
O&d+g 110,000 51«12 6,600
Ooola+g 60,0002 50112 3,600
Ol =t 300,000 *421+500, 000 *1¢! 1,700
o= 300, 000& *4¢! 1,200
Osgz2esg 98,500 521 x 102 +150% 7,388
OFL22+<(100=22150)
98,5002 521 x452 x50% 11,082
OS2 &l 98,5002 50115 7,388
OSad=s AduH 920,000& #5¢! 4,600
O=0d=2g= 40,300,000 x521%0.045 9,068
(@EE=J--3= L= 40,300,000& x521%0.015 3,023
OHZEEEE =S 40,300,000& x521+0.0324 6,529
OFILLE= 6,529,000 *x5¢1%0.0851 2,779
O&ATHHFEHS  39,380,000& x521+0.0105 2,068
JI2ZHI (A R2IA L) 117,392 86,100 31,200
JI2ZHI(AE 22 At A) 117,392 86,100 31,292
201 LeHE | 98,812 69,300 29,512
01 At 22l 73,812 63,300 10,512
oLt =2H(SUHY) 73,812
Oggt=24| 9,960,000& * 14! 9,960
Oo2g=g(L=2d]) 28,860,000 + 14| 28,860
O=2 &
32,0003 1201« 122 424,000 »221 x 128 5,184
Ogxtz 29,808,000& * 14| 29,808
02 3323 25,000 6,000 19,000
Ooxtg |2l 6,000,000& * 14! 6,000
OZXESSHILI(SXa2, S22 MSAE)
19,000,000& 14| 19,000
202 044 12,700 11,600 1,100
01 =W oLl 12,700 11,600 1,100
OJl=dR=anbl 12,700,000 14| 12,700
203 A R=2H| 5,880 5,200 680
02 3t 24| 1,080 1,000 80
OF NP2 FAH| 40,0002 »27¢! 1,080
04 NS YERFAH| 4,800 4,200 600
ORN2ILR=AHI 400,000 «12& 4,800
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